EARAROBREBRT —5 XN—ZXBISH—F

2022618128 (K) 10DO#aE38

I F\T L& 95%R4KLEOP

BRI

[AE%] 1 7% :6,000,000  ~ 237 :2,100,000 @ .~ 37 :1,200,000 4 3&:900,000 § . 5 7&:600,000 H

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
o RESR :53. -5-2- . - RER (A018)
1 7 9 #9/2—7 I\/\X 4;1 5 55.550 1(5_3)7 5-5-2-2 39.6 6 (iz;) jtﬁﬁ}?ﬁ‘li-',
RiJx/—X/ B:eOrrvyzO R s
5 S s~ AHIESE :53. -3-1- . - BT (KFH)
2 J8ln|Fuv = s |58 IR X R
RAVIRSAY BTUHR—Y J=HUT7—L
o = BIHER :55. -9-9- . - FELLBSER (Vi)
3155 AN/ T vyF— "7 57_5|_ ! (563 ! 9996 1 40.2 ! (ﬁg) /N‘?F#fﬁ
R:d—)URFYU2—)L B:ON/ZF—5 vFAOHKES
w Q w11 | KBEZ 1:55.9 8-8-4-3 |4.6| — 1 518 | EERIEN (otd)
] 2 |UvAILE e @ e ) Ly
R:THAFUIr—)U B:FavI(N\YSY MEZ Y R
S0~ — t 6 | HWHES 1:56.0 1-1-3-4 |[41.7] - 8 484 | IVERR G
518|102 ~AV—F 55.5 O15) W) | KE%E
R:N«/40 B:T7x—)IT—T0— BiER5
. o4 | HES 1:56.1 6-6-85 |41.2| — | 2 | 521 [KERE @)
617] 8| ¥HRYR 5% 3/ (14 | KAJTMOTOHD ()
R:Ey/0704 B:vavuUINIHFA A NA5
= o — s [FEESpEE] :56. -10-11- . - FAMIEE (RaHE)
; 7 lESRI59—va # 7 | B 1(75?:)2 10-10-11-10| 41.0 10 (533 Rlieig
RiFVyvH /2% B:ESRIDsY Pui e ]
R 48 | fEEAIIE 1:56.4 7-7-10-9 | 41.3| - 4 516 | JIIBE— (8
8111 NF23AV9 57.5 m (+6) 7(5(1%*[]9&0
RYURAT4 TSR B:RI9—bDvay TH W08
=~ PEFNRS :56. -11-6- . - HBER (1)
9 6| FryRILTSHY 48 e 1(15/62)5 1M-11-6-7 | 41.8 1 (4;2) pas
RINVT—=I—)b B:FvvRILAEA b i YN
~ P A=~ 8 | BEARE 1:56.7 2-2-5-8 | 42.0| - 9 | 53 |KTFEE (WHE)
1000 4 | FYITAVXSVT " 57.5 ) @ | ) N2~
RiIZANU—bEYR B:FA4D0FUHY— BEH Fic
= 4 5 | LWCHESR 1:56.9 4-4-7-11 | 42.0| - 5 493 | MEAN (#618)
1 3 IXU=wv b 575 (3/4) (-5 | (B KB
R:YVYRUIURIR &:7F—h ERFEUS
@ 1—F—&RIEL
13—7— 10,4,11,3,9,8,1,2,5,7,6
20—F— 10,4,11,3,9,8,1,2,5,7,6
30—7— 11,9,10,2,4,6,3,8,5,1,7
40—F— 11,9,2,10,8,5,6,4,1,7,3
o ILRE
BB 9 1,360 JA R 9-11 940/ e B 7-8 720 3EE 5-9-11 8,080
B B 9 410 5-9 1,560M (=1 7-8 1,440 3EH C=11=5 47,060
1 170H 5-11 7708 5 & 9-1 3,130
5 3004 =51 9-11 6,770M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




